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Orthologs: (1403) Bins: (65) (736) (373) (145) (62) (22) Orthologs: (1316) Bins: (72) (725) (316) (132) (54) (17)

Paralogs: (3059) Bins: (24) (119) (224) (543) (755) (1394) Paralogs: (3183) Bins: (143) (161) (300) (448) (817) (1314)
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Sequence |dentity

Orthologs: (1403) Bins: (685) (736) (373) (145) (62) (22)
Inparalogs: (157) Bins: (15) (42) (43) (28) (18) (10)

W-s outparalogs. (1569) Bins: (0) (32) (94) (307) (403) (733)
B-s outparalogs: (1331) Bins: (7) (45) (87) (208) (333) (851)
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Sequence |dentity

Orthologs: (13168) Bins: (72) (725) (318) (132) (54) (17)
Inparalogs: (125) Bins: (13) (28) (48) (21) (8) (7)

W-s oulparalogs: (1688) Bins: (124) (85) (123) (237) (415) (704)
B-s outparalogs: (1370) Bins: (B) (48) (129) (190) (394) (603)
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Orthologs: (81) Bins: (0) (42) (29) (12) (8) (0)
Paralogs: (768) Bins: (64) (45) (87) (201) (148) (223)
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Orthologs: (67) Bins: (0) (38) (19) (10) (0) (0)
Paralogs: (649) Bins: (152) (49) (50) (99) (118) (180)
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Biological Process Molecular Function
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Sequence |dentity Sequence |dentity
Orthologs: (81) Bins: (0) (42) (29) (12) (8) (0) Orthologs: (67) Bins: (0) (38) (19) (10) (0) (0)
Inparalogs: (178) Bins: (55) (31) (28) (21) (0) (43) Inparalogs: (103) Bins: (55) (25) (13) (5) (5) (0)
W-s outparalogs: (576) Bins: (9) (13) (58) (177) (140) (178) W-s outparalogs: (525) Bins: (97) (23) (35) (88) (112) (170)

B-s outparalogs: (5) Bins: (0) (0) (0} (0) (5) (0) B-s outparalogs: (13) Bins: (0) (0) (0) (6) (0) (7)



